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REET Memory Based Question Paper 2025 for Level 2 
Child Development and Pedagogy 

 
Q1. In which year was Bloom's Taxonomy first introduced? 
(a) 1956 
(b) 1965 
(c) 1972 
(d) 1980 
 
Q2. According to Vygotsky, which factor plays a crucial role in cognitive development? 
(a) Reinforcement 
(b) Social Interaction 
(c) Genetic Inheritance 
(d) Trial and Error 
 
Q3. Who is known for classical conditioning, a major theory of learning? 
(a) B.F. Skinner 
(b) Ivan Pavlov 
(c) Albert Bandura 
(d) Edward Thorndike 
 
Q4. What is the full form of RTE? 
(a) Right to Employment 
(b) Right to Education 
(c) Right to Environment 
(d) Right to Equality 
 
Q5. What is the new school structure introduced by NEP 2020? 
(a) 10+2 
(b) 5+3+3+4 
(c) 6+4+4 
(d) 8+4 
 
Q6. Who proposed the theory of Multiple Intelligences? 
(a) Charles Spearman 
(b) Howard Gardner 
(c) Robert Sternberg 
(d) Alfred Binet 
 
Q7. Which intelligence test is widely used for measuring adult intelligence? 
(a) Stanford-Binet Intelligence Scale 
(b) Wechsler Adult Intelligence Scale (WAIS) 
(c) Raven’s Progressive Matrices 
(d) Cattell Culture Fair Test 
 
Q8. Which psychological theory is associated with Clark L. Hull? 
(a) Classical Conditioning Theory 
(b) Drive Reduction Theory 
(c) Social Learning Theory 
(d) Cognitive Development Theory 
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Q9. The Intelligence Quotient (IQ) is calculated using which formula? 
(a) IQ = MA / CA × 100 
(b) IQ = CA / MA × 100 
(c) IQ = MA × CA 
(d) IQ = CA × 100 / MA 
 
Q10. What is the best definition of learning in psychology? 
(a) A temporary change in behavior 
(b) A permanent change in behavior due to experience 
(c) A reflex action in response to stimuli 
(d) A genetic trait passed through generations 
 
Q11. What is the best definition of assessment in education? 
(a) The process of assigning grades to students 
(b) A systematic evaluation of student learning and performance 
(c) A method used only for final examinations 
(d) A way to compare students with each other 
 
Q12. What does IQ stand for in intelligence testing? 
(a) Intelligence Quality 
(b) Intellectual Quotient 
(c) Intelligence Quotient 
(d) Innate Questioning 

SOLUTIONS 
 

S1. Ans.(a) 
Sol. The correct answer is: (a) 1956 
 
S2. Ans.(b) 
Sol. The correct answer is: (b) Social Interaction 
 
S3. Ans.(b) 
Sol. The correct answer is: (b) Ivan Pavlov 
 
S4. Ans.(b) 
Sol. The correct answer is: (b) Right to Education 
 
S5. Ans.(b) 
Sol. The correct answer is: (b) 5+3+3+4 
 
S6. Ans.(b) 
Sol. The correct answer is: (b) Howard Gardner 
 
S7. Ans.(b) 
Sol. The correct answer is: (b) Wechsler Adult Intelligence Scale (WAIS) 
 
S8. Ans.(b) 
Sol. The correct answer is: (b) Drive Reduction Theory 
 
S9. Ans.(a) 
Sol. The correct answer is: (a)  IQ = MA / CA × 100 
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S10. Ans.(b) 
Sol. The correct answer is: (b) A permanent change in behavior due to experience 
 
S11. Ans.(b) 
Sol. The correct answer is: (b) A systematic evaluation of student learning and performance 
 
S12. Ans.(c) 
Sol. The correct answer is: (c) Intelligence Quotient 
 

Hindi 
 

Q1. परिश्रम मे उपसर्ग है-  

(a ) पिी  

 (b) परि  

 (c) प  

 (d) पि  

 

Q2. 'दंतोष्ट’ मे संधि है?  

(a ) स्वि संधि  

(b) दीर्ग सधंि   

(c) यण संधि   

(d) व्यजंन सधंि  

 

Q3.  धनम्नधिधित में स ेकौन-सा शब्द जाधतवाचक सजं्ञा है? 

(a ) ताजमहि 

(b) ददल्िी 

(c) शेि 

(d) रं्र्ा 

 

Q4. मातृशधि मे समास होर्ा– 

(a ) कमगिािय समास   

(b) तत्पुरुष समास  

(C) द्वन्द्द्व समास  

(d) अव्ययीभाव समास  

 

Q5. ‘मनीषा’ का संधि धवच्छदे होर्ा – 

(a ) मन + ईषा  

(b) मनः + इषा  

(C) मनस् + ईषा 

(d) मन + इषा  

 

Q6. प्रत्याहाि म ेकौनसी संधि ह ै–  

(a) प्रधत + आहाि  

(b) प्रत्या +आहाि  

(c) प्रत्य + आहाि  

(d) प्रत्यय +आहाि  
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Q7. पवन का पयागयवाची नहीं है- 

(a) मारूत  

(b) बेि  

(C) समीि   

(d) अधनि   

 

Q8. जंर्ि का पयागयवाची है - 

(a) कनक  

(b) कानन  

(C) कधणका  

(d) कंि  

 

Q9. ‘भ’ वणग का उच्चािण स्थान है – 

(a ) मूिाग  

(b) कंठ्य  

(c) दंत्य  

(d) ओष्ठ  

 

Q10. ‘आँिों की दकिदकिी होना’ मुहाविे का अथग है- 

(a) देिी से पहंचना  

(b) अधिक समय िर्ाना  

(c) अधप्रय िर्ना  

(d) बाि-बाि एक ही बात किना  

SOLUTIONS 

 

S1. Ans.(b) 

 

S2. Ans.(a) 

 

S3. Ans.(c) 

 

S4. Ans.(b) 

 

S5. Ans.(c) 

 

S6. Ans.(a) 

 

S7. Ans.(b) 

 

S8. Ans.(b) 

 

S9. Ans.(d) 

 

S10. Ans.(c) 
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English 
 

Q1. Which of the following is a key strategy in remedial teaching? 
(a) Lecturing only 
(b) Personalized instruction 
(c) Strict discipline methods 
(d) Memorization techniques 
 
Q2. "The correct phonetic transcription for ‘chain’ is ________" 

(a) /tʃeɪn/ 

(b) /tʃan/ 

(c) /chtʃn/ 

(d) /chaen/ 
 

Q3. "/dʒʌdʒ/ is the phonetic transcription of the word ________" 

Options: 
(a) dug 
(b) judge 
(c) jug 
(d) grudge 
 
Q4. Which of the following is a voiced sound? 
 (a) /p/ 
(b) /t/ 
(c) /n/ 

(d) /tʃ/ 

 
Q5. How many sounds are there in English? 
(a) 26 
(b) 21 
(c) 41 
(d) 44 
 
Q6. Which figure of speech is used in the sentence,  
"The wind whispered through the trees"? 
(a) Simile 
(b) Metaphor 
(c) Personification 
(d) Hyperbole 
 
Q7. Identify the figure of speech in the sentence, 
"She is a shining star in the classroom." 
(a) Simile 
(b) Metaphor 
(c) Alliteration 
(d) Oxymoron 
 
Q8. Which article correctly completes the sentence,  
"She adopted ____ orphan cat from the shelter"? 
(a) a 
(b) an 
(c) the 
(d) No article 
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Q9. Choose the correct article for the sentence, "She is ____ best player on the team." 
 (a) a 
(b) an 
(c) the 
(d) No article 
 
Q10. Choose the correct modal verb to complete the sentence: 
"You ____ wear a seatbelt while driving." 
 (a) may 
(b) must 
(c) could 
(d) might 

SOLUTIONS 
 

S1. Ans.(b) 
Sol. The correct answer is: (b) Personalized instruction 
 
S2. Ans.(a) 

Sol. The correct answer is:  (a) /tʃeɪn/ 

 
S3. Ans.(b) 
Sol. The correct answer is: (b) judge 
 
S4. Ans.(c) 
Sol. The correct answer is: (c) /n/ 
 
S5. Ans.(d) 
Sol. The correct answer is: (d) 44 
 
S6. Ans.(c) 
Sol. The correct answer is: (c) Personification 
 
S7. Ans.(b) 
Sol. The correct answer is: (b) Metaphor 
 
S8. Ans.(b) 
Sol. The correct answer is: (b) an 
 
S9. Ans.(c) 
Sol. The correct answer is: (c) the 
 
S10. Ans.(b) 
Sol. The correct answer is: (b) must 
 

Maths 
 

Q1. The average of five consecutive natural number is 15. What is the sum of the first and last numbers 
(a) 27 
(b) 30 
(c) 31 
(d) 33 
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Q2. If x + y = 1, then what is the value of (x3 + 3xy + y3 − 1)?  
(a) –1  
(b) 0  
(c) 1  
(d) 2 
 

Q3.  
(a) – 9 
(b) – 3 
(c) – 1 
(d)none of the above 
 
Q4. Yogesh runs with a speed of 30 km/h and completes a race in 5 minutes. What is the length of the race (in 
m)? 
(a) 2050 
(b) 2500 
(c) 2550 
(d) 2600 
 
Q5. The cost price of a chair was Rs.1500. this price was marked up by 20% above the cost price. Chair was sold 
at a discount of 10% on the marked price. Find the selling price of chair. 
(a) Rs.1620 
(b) Rs.1720 
(c) Rs.1800 
(d) Rs.1650 
 
Q6. What will come in the place of question mark (?) in the following question? 
 66×66÷11×8÷8(594/11)=? 
(a) 22/3 
(b) 26/3 
(c) 66 
(d) 33 
 
Q7. Which concept can be most appropriately explained by an example of the most easily available size of a 
particular garment in garment shops or garment factories ? 
(a) Mode 
(b) Median 
(c) Standard Deviation 
(d) Mean 
 
Q8. The sum of mean, median and mode of the data: 
11, 14, 9, 30, 35, 17, 19, 28, 23, 48, 36, 30 is 
(a) 80.5 
(b) 78.5 
(c) 76 
(d) 75 
 
Q9. If x and y are respectively the supplement and complement of an angle 60° then value of(x+y) is equal to : 
(a) 120° 
(b) 185° 
(c) 145° 
(d) 150° 
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Q10. In the given figure, ∠DBC = 65°, ∠BAC = 35° and AB = BC, then the measure of ∠ECD is equal to: 

 
(a) 55°  
(b) 45°  
(c) 65° 
(d) 35° 
 
Q11. ABC and PQR are two triangles. AB = PQ = 6 cm, BC = QR = 10 cm and AC = PR = 8 cm. If angle ABC = x 
degree, then what is the value of angle PRQ? 
(a) (180 – x) degree   
(b) (90 – x) degree  
(c) (90 + x) degree  
(d) (180 + x) degree  
 
Q12. ABCD is a cyclic quadrilateral and BC is a diameter of the related circle on which A and D also lie. ∠BCA = 
19° and ∠CAD = 32°. What is the measure of ∠ACD? 
(a) 41° 
(b) 39° 
(c) 40° 
(d) 49° 

SOLUTIONS 
 

S1. Ans.(b) 
 
S2. Ans.(b) 
 
S3. Ans.(a) 
 
S4. Ans.(b) 
 
S5. Ans.(a) 
 
S6. Ans.(a) 
 
S7. Ans.(a) 
 
S8. Ans.(a) 
 
S9. Ans.(d) 
 
S10. Ans(b) 
 
S11. Ans(b) 
 
S12. Ans.(b) 
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Science  
 

Q1. In which year and by whom was mitochondria discovered? 
(a) 1920, Thomson 
(b) 1857, Kolliker 
(c) 1909, Evans 
(d) 1956, Palade 
 
Q2. What is the formula of Pressure? 
(a) Mass/Area 
(b) Force/Area 
(c) Force/Mass 
(d) Force/Time 
 
Q3. What is the chemical formula of aluminium oxide? 
(a) Al2O3 
(b) Al3O2 
(c) Al5O2 
(d) None  
 
Q4. The electrical circuit, used to get smooth dc output from a rectifier circuit is called _____________. 
(a) Oscillator 
(b) Filter 
(c) Amplifier 
(d) None of the above 
 
Q5. If the force applied on a surface is doubled and the area of the surface is halved, what happens to the pressure? 
(a) Pressure remains the same 
(b) Pressure is halved 
(c) Pressure doubles 
(d) Pressure quadruples  
 
Q6. Short circuit test of transformer gives the information of: 
(a) Copper loss 
(b) Hysteresis loss 
(c) Iron loss 
(d) Eddy current loss 
 
Q7. Name the acid present in the sting of an ant. 
(a) Tartaric acid 
(b) Hydrobromic acid 
(c) Formic acid 
(d) Muriatic acid 
 
Q8. ____________ reproduces by multiple fission. 
(a) Yeast 
(b) Plasmodium 
(c) Planaria 
(d) Rhizopus 
 
Q9. We slip while walking on a path having  pond scum or green algae because 
(a) The inertia of motion 
(b) The friction is zero 
(c) The friction between the feet and the path is increased 
(d) The friction between the feet and the path is reduced 
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Q10. The most abundant carbohydrate present in blood is: 
(a) Glucose 
(b) Lactose 
(c) Starch 
(d) Cellulose 
 
Q11. Robert brown is known for his discovery of  
(a) Chloroplast 
(b) Nucleus 
(c) Mitochondria 
(d) Golgi Complex 
 
Q12. If the frequency of a sound is below 20 Hz it is known as _________________ sound. 
(a) Audible 
(b) Infrasonic 
(c) Ultrasonic 
(d) None of the above 
 
Q13. In a uniform circular motion: 
(a) both acceleration and speed changes 
(b) both acceleration and speed are constant 
(c) both acceleration and velocity are constant 
(d) both acceleration and velocity changes 
 
Q14. On what factor does the Pitch of sound depend? 
(a) Volume 
(b) Wavelength 
(c) Amplitude 
(d) Frequency 
 
Q15. Which of the following light has lowest wavelength? 
(a) Red 
(b) Violet 
(c) Yellow 
(d) Orange 

SOLUTIONS 
 

S1. Ans.(b) 
Sol. The correct answer is 1857, Kolliker. 
 
S2. Ans.(b) 
Sol. The correct answer is Force/Area. 
  
 
S3. Ans.(a) 
Sol. The correct answer is Al2O3. 
 
S4. Ans.(b) 
Sol. The correct answer is Filter. 
 
S5. Ans.(d) 
Sol. The correct answer is Pressure quadruples . 
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S6. Ans.(a) 
Sol. The correct answer is copper loss. 
 
S7. Ans.(c) 
Sol. The correct answer is Formic acid. 
 
S8. Ans.(b) 
Sol. The correct answer is Plasmodium. 
 
S9. Ans.(d) 
Sol. The correct answer is The friction between the feet and the path is reduced. 
 
S10. Ans.(a) 
Sol. The correct answer is Glucose. 
 
S11. Ans.(b) 
Sol. The correct answer is Nucleus 
 
S12. Ans.(b) 
Sol. The correct answer is Infrasonic. 
 
S13. Ans.(d) 
Sol. The correct answer is both acceleration and velocity changes. 
 
S14. Ans.(d) 
Sol. The correct answer is Frequency. 
 
S15. Ans.(b) 
Sol. The correct answer is Violet. 
 

Social Studies 
 
 
Q1. State bird of Rajasthan ? 
(a) Godavan 
(b) SPARROW 
(c) Crow 
(d) Kingfisher 
 
Q2. law minister of Rajasthan ? 
(a) Jogaram patel 
(b) Anandi ben 
(c) Vijay Saxena 
(d) Mohan singh  
 
Q3. Sagarmal gopa related to ? 
(a) MP  
(b) CHAMPARAN 
(c) MOTIHARI  
(d) Jaisalmer  
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Q4. First Cement factory ? 
(a) Jaipur 
(b) Lucknow 
(c) Lakheri bundi 
(d) Kanpur 
 
Q05. Who estb. Home rule league ? 
(a) Anne beasant 
(b) Raj kumar Shukla 
(c) Ram lal 
(d) Tagore 
 
Q06. Roza Bhaker related to ? 
(a) Jalor 
(b) Jaipur 
(c) Allhabad 
(d) Meerut 
 
Q07. Coarse grain largest producer state ? 
(a) UP 
(b) BIHAR 
(c) Rajasthan 
(d) Mp 
 
Q08. khadar and bangar related to which soil ? 
(a) Alluvial 
(b) Black 
(c) Red soil 
(d) Laterite 
 
Q09. Current home minister of india ? 
(a) Rajnath sigh 
(b) Amit shah 
(c) Modi 
(d) Urmila ben 
 
Q10. Sogra roti made of ? 
(a) Bajre  
(b) Jute 
(c) Paddy 
(d) Rice floor 
 
Q11. kajri institution situated at ? 
(a) Kanpur 
(b) Jodhpur 
(c) Lucknow 
(d) Delhi 
 
Q12. Sikandar lodi donated land to ? 
(a) Ravidas 
(b) Kabir 
(c) Gurunanak 
(d) Meera bai 
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Q13. Arya samaj estb by ? 
(a) Swami Vivekananda 
(b) Saraswati dayanad 
(c) Raja ram mohan roy 
(d)  Meera bai 
 
Q14. Domestic violence act implemented when ? 
(a) 2001 
(b) 2003 
(c) 2005 
(d) 2010 
 
Q15. SC seat reserved in Loksabha ? 
(a) 99 
(b) 69 
(c) 59 
(d) 84 
 
Q16. earth is inclined _____ degree ? 
(a) 49 
(b) 59 
(c) 25 
(d) 23 & half  
 
Q17. Writer of Prayag prasasti ? 
(a) Harisen 
(b) Sikandar 
(c) Abdur Razak 
(d) Al beruini 
 
Q18. Birth of gurunanak ? 
(a) 1589 
(b) 1498 
(c) 1469 
(d) 1700 
 
Q19. Fundamental duties article ? 
(a) 25 
(b) 35 
(c) 71 
(d) 51(a) 
 
Q20. How many people signed on Constitution ? 
(a) 389 
(b) 284 
(c) 188 
(d) 255 
 

Solutions  
 

S1. Ans.(a) 
Sol.  
 
S2. Ans.(a) 
Sol.  
 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/teaching-jobs-exam/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/


 
 

14 Teaching Jobs Exam   |    www.sscadda.com    |    www.bankersadda.com    |    www.adda247.com       

 

S3. Ans.(d) 
Sol.  
 
S4. Ans.(c) 
Sol.  
 
S5. Ans.(a) 
Sol.  
 
S6. Ans.(a) 
Sol.  
 
S7. Ans.(c) 
Sol.  
 
S8. Ans.(a) 
Sol.  
 
S9. Ans.(b) 
Sol.  
 
S10. Ans.(a) 
Sol.  
 
S11. Ans.(b) 
Sol.  
 
S12. Ans.(a) 
Sol.  
 
S13. Ans.(b) 
Sol.  
 
S14. Ans.(c) 
Sol.  
 
S15. Ans.(d) 
Sol.  
 
S16. Ans.(d) 
Sol.  
 
S17. Ans.(a) 
Sol.  
 
S18. Ans.(c) 
Sol.  
 
S19. Ans.(d) 
Sol.  
 
S20. Ans.(b) 
Sol.  
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